Pure Mathematics Year 1/AS SolutionBank

Trigonometric ratios 9D

la B 2 a Sosinx°:4—ng
600 3

x°=sin"(%)or x>=180°—sin"" (%)

8.6cm c x=41.8(3s.f.)orx=138 (3s.f)

7.8cm b

A
Area = 3x7.8x8.6xsin45° 2
=23.71...
=23.7cm*(3s.f) 65em 8.5cm

\/

A
Using area =Zbcsin A
12.4=1x8.5x6.5xsin x°

Sosinx° = 124 =0.04488...
B 2.5cm ¢ 27.625
x=26.7(3s.f)orx=153 (3 s.f.)
Area = $x2.5x3.5xsin100°
—4.308... ¢
=4.31cm* (3s.f)
c
Using area =% acsin B
Area =1x6.4x6.4xsin80°
;;16x * 124/3 = 1 x6x8sin X°
=20.2cm? (3s.f.) Sosin x°:%:£
24 2
5 a Xx=600rx=120

Using area =3 acsin B

: PP
400 =1 x 40x 30x sin x° Using area =3 acsin B

1200 = 1 x 60x 80 x sin 6°

© Pearson Education Ltd 2017. Copying permitted for purchasing institution only. This material is not copyright free. 1



Pure Mathematics Year 1/AS SolutionBank

3 Sosineo:;igg:% 5 a 3A=%(5X2—2X+10—X2)X%
= A=1(10+3x-x)
6 =30o0r =150
b Completing the square:
But as AC is the largest side, @ must be 10+3x—x2 = _((X_]_i)z _ 2;_10)
the largest angle. 2 ‘
S00=150 _ :_((X_l%)Z_lz%)
Using the cosine rule to find AC:
b* =a’+c®-2accosB =121 (x-1%)’
AC2:602+802—2X60X80X0051500 When x = 1%
=18313.84... The maximum values of 10+3x —x* =121
AC=1353... and the maximum value of A is
AC =135m (3s.f.) 1(124)=34
So the perimeter =60+80+135 (You could use differentiation to find the
=275m (3s.f.) maximum.)
4 6
A (5+ x)cm c
a Using area of ABAC =1bcsin A
32em? =1x(5+x)sin150° cm?
3_1 2\ L
S0 20=x(x+2) 33=3(5x+ )3
_ 2
= x*+2x-20=0 =15="5X+X
Using the quadratic formula: = X’ +5x-15=0
‘o —b++/b* - 4ac
\/Z_a b Using the quadratic equation formula:
x:$ X_—bi\/b2—4ac
2a
x=3.582... or x=-5.582...
—5++/85
As x>0, x=3.58 (3s.f.) =TS
c x=2.109... or x=-7.109...

Asx>0, x=2.11 (3s.f.)

a Using area of APQR =2qrsinP:
Acm? =1(5-x)(x+2)sin30° cm?
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